	[image: image1.png]Hano: 21+ 22 =180°, £3 =96°.
Haumu: £5 — Z4.

Jano: £1 =50°, £2 =50°, £3 = 108°.
Haiimu: 24 + Z5.

Omsem: Omsem:






	[image: image2.png]IIpu xakom 3HaueHuH yria 1 yron 2
pasen 80°?

IIpy xakoM 3HaYeHHH

yraa 1 yron 2 paBeH 95°? A
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	[image: image3.png]Hdanocalc, b lc, £2+ £3=122° ' Mano:ale blc, £1+ £2=96°.
Haiimu: Z1. : Haimu: £3.






	[image: image4.png]Hano: ZBAC = ZDCA. E2 Jano. £CBD = ZLADB.
Hoxasamv: £1 = /2. Hoxazame: £1 = Z2.

HMano: AB=CD, £1 = Z2. Mano: BC=AD, 21 = /2.
Jloxasamy: £3 = ZA. Hokazamy: £3 = Z4.
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Hano: ABCD — npsaMOyTOJIbHUK
(Bce yrusl psimbie), Z1 = 50°.

Haumu: £2. B

Hano: ABCD — npAMOYTOJIBHUK
(Bce yrasl npsmble), £1 = 40°.

Haiimu: £2.

B






	[image: image6.png]) Jano: BK — 6uccektpuca ZABC,
KM || AB, £1 =28°. c
Haumu: £2. d

) Jlano: AK — 6uccextpuca ZBAC,
MK || AB, £1 = 54°.

Haiimu: £2.






	[image: image7.png]Jlano: OK || AB, OM || AC, |88 fano: EF|| AC, AE = FO,
OK = BK, OM = MC. | CF= FO.

Joxazamv; BOu CO —
OUCCEKTPHUCHI.

Joxasamsv: AOu CO —
OUCCEKTPUCHI.






	[image: image8.png]Jano: BM = BK,

ZAMB = £CKB,
AC — Guccexrpuca £BAF.

Hoxasamy: AF || BC.

Aano: OK || AB, OM || AC,
OK =BK, OM = MC.
Joxazamv: BOu CO —
GHCCEKTPHUCHL.

Yepes TOUKY IepeceyeHusi 6UCCeKTPUC
AABC nipoBezieHa npsiMast, TlapajiieJibHast
npsamoit AC, nepe-
cexamolas CTOPOHY

AB B Touke M, a cTo-

pony BC B Touke N. M
JlokaxuTte, 4TO ,)\'
MN=AM + CN. A

Hano: BK — 6uccexktpuca AABC,

CF| BK. E
Joxaszamv: ABCF — /
PaBHOGEIPEHHBII, /

Hano: EF || AC, AE=EO,
CF=FO.
Jloxasamv: AOwn CO —
6UCCEKTPHCHL.

T

Mano: AB || CD, CB — 6uccextpuca
ZACD, AK — 6uccektpuca ZCAB.
Joxasamv: CK = KB.







